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1. (a) Explain the scope of management accounting. How

does it differ from cost accounting?
gET aEE & R ds @ e #ifg ) e
AEHTT | T8 ﬁm yER = ¥
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frfoiea & & 58 @ w afre feorol fifaw:
(i) weferT &% ar s ¢

(b) From the following forecast of income and expenditure
prepare a Cash Budget for the months of June, July

and August, commencing 1st June with an opening cash ¢ ¢ (i) 17 7 @HT
balance of Rs. 80,000: : (iil) §91 ﬂgawr
(Rs) TP (v)FTa SEfem g ) 3x5=15

Months  Sales Purchases Wages Factory Administration and a

Expenses  Selling Expenses 5. (a) What is Standard Costing? Discuss its advantages and

April 80000 41,000 5600 3900 10,000 limitations.

May 86500 40500 5400 4200 14,000 ( | A ATTA-REReT w9 g 7 T A ol S
June 88500 38500 5400 4,100 15,000 , B R E3 el k333
July 8000 37000 480 3900 17,000

(b) Explain the concept of ‘relevant cost’ and ‘irrelevant
August 85000 35000 4,700 3,800 13,000

Additional information is. as follows: Gom. With the help cE Baampics.

* Sales commission of 5% is due two months after . W A SR ST A HHWT At S
sales; : N AT ¥ AT HITT | . 6
* Machinery worth Rs. 65,000 will be purchased in Or ()
August; % Overhead expenditure for a period is given below:
* Dividend of Rs.15,000 for the last financial year Particulars Budget Actual
will be paid in July; . Output in units 6,000 6,500
* 20% of the sales are on cash basis and for ‘credit Man-Tioirs 3,000 3,300
sales the customers are allowed a credit period of Fixed Overhead (') 1,200 1,250
two months; _
*  Suppliers allow a credit period of two months; and Variable Overhead (") 6,000 6:630
* Wages, factory expenses and administration and Number of working ‘days 24 26
Calculate:

selling expenses are paid in the following month.
I AR = & Freafiiee gafgae @, 80,000 so B
UFs 99 & ¥4 1 97 B g6 F@ W, GO AR
ST W % oY Awg T {AR A

2

(i) Fixed Overhead Cost Variance
(ii) Fixed Overhead Expenditure Variance
(iii) Fixed Overhead Volume Variance
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S @ @ R AR R e @ . PO ¥ S ¢ g ur e — G
TARIAET Bal & @6Y 3 G849 § =qrer S | &  Pmaad

(b) Production of Product A requires 2 hours and Product B s ads 80,000 41,000 5600 3,900 10,000
requires 4 hours. In a month of 25 effective days of 8 hours 3 86,500 40500 5400 4,200 14,000
aday, 2,500 units of A and 1,500 units of B were produced. ’ 3 A 88,500 38500 5400 4,100 15,000
The budgeted hours were 1,02,000 hours for the year. There | | 9 82000 37000 4800 3900 17,000
were 50 workers in the production department. ' ITE 85000 35000 4,700 3,800 13,000

~ Calculate: sfoRed gEd 39 YR &
@) Activity Ratio ( v 5% RE TRV RE @ @ WE @ 2 A
@ Etfoiency Ratio ' * 65,000 To FHAd H AT s & @ e
(@t)) Capacity Ratio. * fied Ricia af & R 15,000 To s e F
AR A® IdEA & fog 2 @2 3R Iwe B & forg 4 fear e
gt B s thind A « 20% farl e o g€ ¥ o e Rt @
e § A% 2,500 g AR BT 1,500 P TR gF 1 Rro st B 2 e B T & Y
Ffed g aff & forg 1,02,000 6 & | IareT fawmr F R & W W SuR R 3 § ok
50 FHHA &) i ' ; *W,Wﬁﬁmmﬁmﬁ
wRE A I wre Ry aw ¥ 5,10
() wfhar ST : Or (sra) \
(&) HIAT FFTA (a) Explain the essentials of successful budgeting.
(ii) &P ST | 69 [l AE qoreT B A Rkt @ amen #ifg)

Or (m) : / ( (b) Following are the estimated sales in units of XYZ Ltd.

Write short notes on any three of the following: 1 R for six months:
(i) Operate or Shut down Month Sales in units
(ii) Make or Buy ; ‘ ’ ~ April 10,000
(iii) Budget Manual May 12,000
(iv) Cost Indifference Point. June 14,000
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July 12,000
August 10,000
September 14,000
As a matter of policy the company maintains closing
balance as follows:
(i) Finished goods: closing stock 40% of the estimated
sales of the next month.
(ii) Raw material: closing stock 50% of the estimated
consumption for the next month.
Each unit of production consumes 5 kg of raw material.
Prepﬁre the following budgets for the months of April,
May, June and July. '
(i) Production Budget (month-wise in units)
(ii) Raw Material Purchase Budget (month-wise in
units). A
xyz fafiks &t gfel ¥ s Rt ve W & fog
W YER & ‘
fat g
10,000
12,000
14,000
12,000
10,000
14,000
Ay B IFER, TGN AT I T IFR A @A
| 5

FEERE L

Variable Cost 336 252
Fixed Cost 100 80
Assuming that the proposal will be implemented, calculate:

(i) Break-even sales of the merged plant

_ (i) Capacity utilization at break-even

(iif) Profit of the merged plant at 80% capacity utilization

(iv) Sales turnover of the merged company to earn a profit
of Rs. 84 lakhs.

frfor & ot @ Fufal @ Feafaied =

e & 7€ ¥ e fww w0 & feaa B

W o ¥
o FH X FEY
9T & 999RT 80% 70%
fert 480 350
qftadl @ 336 . 252
W A 100 80

& A 6 W& & Hiteaa fBar s, ke

Hifora:

() foofaa d@asr & em-eww Rt

(i) -3 Rafy W erEr & SwE

(i) e 9dr ¥ 80% &WaT IYANT W A

(iv) 84 W@ To @iw AT & B g Rafda e
0 et wfewe | 5,10

4. (a) Define Responsibility Centre. Briefly explain the nature of

various types of Responsibility Centres.
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If selling price per unit, variance cost per unit and total | (i) TR "W dAfw =i, I HEW &

fixed cost remain unchanged, calculate the following: : st #1 40% :

@) P/Vratio ' ‘ 0 (ii) FeaT W: Sffod i, SR WE & ST
(ii) Fixed cost ' &9q FT 50%

E’:ﬁ;;’e“kﬁE":"?ﬂ“_ st ;Y ST &y gfe #§ 5 fRrmo e Ww @ ¥
1v) Margin of safety i % for first year n m’ #'%@Tw%m%mm

(v) Sales to earn a profit of Rs. 46,000. Lopo

& e adt & R faelt T o T A Ry o @ i S
N (i) SERA 9 (FERER g H)
Frror s e St ( (ii) ST W T goie (FEMER gl ) 3,12
fRet 10,00,000 12,30,000 2. (a) Briefly explain the concepts of cost control and cost
o 1,54,000 2,00,000 hdiiilon.
i R dwa wRy g, TRadT A SR 9 o g : S
o SRAR T ¥ @ PR oRw 0 NI, e S W RO M
e . e Hif |
G PV 2 ! (b) From the following information prepare income
(i) TR A : ; statements based on Absorption Costing and Marginal
(i) WTH-ATH ot Costing. Explain the reasons for difference in profit.
(v) wom o & forg wigaar § geaw & i Particulars Amount
(v) 46,000 %o & WY B AR FA B foT it 15 Normal Capacity (units) 1,200
' : Or (sr) Production (units) 1,000
(a) Explain Zero Base Budgeting and ifs advantages. I : Sales (units) 800
{WWW@TWWE&WWI ( ( Variable Manufacturing Cost per unit 100
(b) Two manufacturing companies, having the following
operating details, decide to merge: 1 ' Variable Selling Cost per unit 2% of Sales value
Pa.Labhs , : Fixed Manufacturing Cost 60,000
Particulars Company X  Company Y Fixed Administrative Cost 1,00,000
Capacity Utilisation ~ 80% 70% Fixed Selling & Distribution Cost 60,000
Sales 480 - 350 Selling Price per unit 500
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frfafaa guemeil |, s@viwwr wrra freEfer &k
diq @ Fefer woomena o & O qaR

For ) el # ew B fog wwont i aren Sk ‘

o afdr
amg e () - 1,200
S (3fR) 1,000 5 B
R () 800 ¢ ki
i afve uftedt Fafor smr 100
uft gfve aRtadt e arm fashl 97 & 2% (
et o = 60,000
Wt ggeG g 1,00,000
wrr fespa e =g 60,000
fasha @ma iy gfe 500
‘ 348 .7
Or (GIW)

A Company is operating at 75% of its full capacity of
6,00,000 units. The selling price per unit is Rs. 35 and
the budgeted per unit cost data are as follows:

Particulars Cost per unit

Raw Material Cost 6

Direct Labour Cost 7 5

Variable Manufacturing Overhead 7 TR
Variable Selling Cost ey ( (
Fixed Manufacturing Cost 8

The company has received a one-time order for 50,000
units @22. No selling cost will be incurred but additional
packing cost of 1.50 per unit will be incurred.

(i) Should the company accept the order, give both

financial and other considerations.

5455 6

(ii) Calculate the total profit of the company if the special
order is accepted.

TF FE 6,00,000 JFE H QO &EAT F 5% W

yared & @ ¥ Resa @i afv e 35 o B IR

T Ry g T SRS I YRR &

Raor e wi gfe
Hed AT B AN 6
e o9 AN 5
uftadt fmfor SuRer 7
et fospa @ 3
o Fefor @rE 8

FET F 22 Fo B W F 50,000 A F THA
s Prer %1 @ e @ T8 @nE oned Wi
1.50 To ufy gfre sfRaw dew il
(i) T HIN F A EHR H A0 =ieq? fawha
qr S il B qary |
(i) BTN D HE @ H Rpa g AR @A
ARY H WER X forr v § 1 6+3,6
3. Given below are the Sales Revenue and Profit for two

consecutive years (in) :

Particulars First Year Second Year
Sales 10,00,000 12,30,000
Profit 1,54,000 2,00,000
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